Linear Modeling/Regression

FUNCTION NOTATION
Given the function notation of a coordinate:

a) Rewrite the coordinate as (x,y) b) Plot the point on the graph and give the quadrant it lies in

1) 3)=4 2) f(-2)=3 3 f(-4)=-2 4) fi5)=-1
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Given the function find the following coordinates and then graph the function

1. fix)=-2x+4

a) f(3)=4 b) f(-2) = c) 1(-4)= d) 1(5) =
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Given the function and the functions value find the following coordinates
and then graph the function

1. f(x)=-2x+4

a) fix)=4 b) f(x)=-10

¢) f(x) =-6 d) f(x)=5
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Arithmetic Sequences: Function and Recursive Rules

Find the function/explicit rule from the table given below.

X 1 2 3 4

f(x) 12 15 18 21
Find the recursive rule from the table given below.

n 1 | 2 3 4

an 12 15 18 21
Find the function/explicit rule from the table given below.

X 1 2 3 4
f(x) 3 1 -1 -3
Find the recursive rule from the table given below.

n 1 E] 3 4

an 3 1 -1 -3
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Find the function/explicit rule from the table given below.

X 1 2 3 4 5
f(x) 120 15 10 5 10
Find the recursive rule from the table given below.

n 1 2 3 4 5

an 20 15 10 5 0
Find the function/explicit rule from the table given below.

X 1 2 3 4 5

f(x) 10 12 14 16 18
Find the function/explicit rule from the table given below.

n 1 2 < 4 5

an 10 12 14 16 18
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Given the function rul ake a tableYor the values of x=0,1,2,3,4

A) f(x)=-4x+ 10 B) f(x)=5x-50
y~iat
Slope
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Given the recursive rule, find the first 5 terms of the sequence
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A) an:an-1+3@ B} an-i]_:an'z

0 0\\\2\_}“\ n (0 I‘&\S :ﬂ

- 5\8\lq_l‘l\\7\ o, |12 \OM__;

i { \

C)an=an1 +10 ap=10 D) ami=an-5 a1=10

02.03610,50 =)= 2, =)=
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?"ﬁ Find the missing terms for eachfarithmetic sequence state the constant difference.

£ 8114170 23208 2(7)8.-1,=5 -9 ,-13.. O‘rl:ql\ o |
Constant Difference = & Constant Difference =_~ 4 a iy
- i =
Oy=h i i &, =D I 23 o
3. 8,21 ,34 ,47,60.. T 8
lansl 403.32.2 %

Constant Difference = L

Constant Difference = =
an=9, \t\3 4. 8 a,= O
5.5 \S ,20,25.. 2ol -5~ a5,
v\ W\ 3-3 -1k
Constant Difference = S Constant Difference = __— -1
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Two consecutive terms in an arithmetic sequence are given. Find the constant difference and
the recursive equation.

7.0f f(3) =5and f(4) = 8. ..

f(58)=____. f(6)=____. Recursive Function:

8. If f(2) =20 and f(3) = 12.

f(9)=____. f(5)=_____. Recursive Function:

9, If f(5) = 3.7 and f(6) = 8.7,

f(7) = . f(8) = . Recursive Function:
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